1. The graph of 2° — 6z +8 —y =0 is A. Moving it 4 units to the right and 3 units down
obtained from the graph of y = z2 by

B. Moving it 3 units to the left and 1 unit up
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E. Moving it 1 unit to the right and 3 units up
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3. Gi that sinz = — and it foll t i -
iven that sinz 3 and cosz < 0, it follows that tanz is equal to o
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4. The center C' and radius 7 of the circle given by
12 + 42—~ 10z + 3y = 5 are
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5. An equation of the line through (—2,2) and parallel to
dr+3y—T7=01s

J

:_i + 3
//W(QZ p
62 L‘;%AZ)

}%-& by +2 = O
6. Given that f(z) = V4 — 22 and g(z) = V22 + 1, the
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dr+3y—14=0
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dy+3x+2=0
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20 +3y - 2=0

A. [-V5,-2]U[2, V5]
B. [-V5,V5]
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7. Which of the following statements are true? Only I
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B. Only II
C. OnlylandII
D. Only III

E. I, 1II, and III
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10. If f and g are continuous at z = 2 with g(2) = 3 A undefined
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12. The total number of asymptotes, vertical and horizontal, for A0
the graph of f(z) T i .
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13. If a ball is thrown directly up from the ground with a velocity vg, then A, g
its height above ground at time ¢ is given by H(t) = vt — gtz until is
falls back to the ground. Here g is the acceleration of gravity. Then, B. X
the velocity of the ball when it hits the ground 1s 29
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14. f'(a) = lim ( represents thgderlvatlve of
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a certaip function f at a number a in its domain. B. f(z)=32-2% and a=2
Determine f and a.
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15. If r + 3s+ 1 = 0 is the tangent line to r = g(s) at A g(-1)=2and ¢(~1) =3
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